Deviation [sigma] Deviation [sigma] Flux

Deviation [sigma]

2.0

15

1.0

0.5

0.0

-0.5

20

10

-10

-20

20

10

-10

-20

20

10

-10

-20

SLX1744-300-JEMX1-MJD53481.111517_lc.txt / MJID 53481.111516 / burstid=5697

; Grey line: exponential fit Peak flux: 1.590+/- 0.423 c/s/cm? 7:
L Black Iing: p.ower law + gauss fit Fluence : 9.43+/- 2.85 c/cm? |
— Dashed line: power law i —
— Duration: 12.52+/- 5.17 s ]
: Best fit model: 1. B
; | Best fluence model: 1. e
: } | Best duration model: 1 ]
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; Exponential fit é
= Expon.time: 3.37+/- 1.23s (chi*red= 1.04) =
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; Power law fit é
E Power law index: -1.908+/- 0.524 (chi*-red= 1.04) =
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—  Power law fit plus Gaussian (st.dev.= 20.15+/-12.52 s, fracgs= 0.27+/- 0.19) =
= Power law index: -2.534+/- 0.632 (chi’-red= 1.05) 3
S bl bt b bbb gl B b e b b |
= ﬂﬂf Wy fﬁﬁuw it Wﬂﬁ W S | P P g AR W i
E | I I I I I I I I I | I I I I I I I I I | I E
0 100 200 300

Time [s]



